


@ 7 ® 14 @ 16 ® 21

@ 3



e 5 8450 Fdo2 22 229
D 0.242424--- = 0.24 @ 2.34234234--- = 9.34
® 0.052052052--- = 0.0520 @ 1.26666--- = 1.26

® 0.432432432--- = 0.4324



@ 1.3 ® 2

® 1.299

@ 1.29

D 1.2



5Lk 5.9 Afelol Sl 4 SOl A48 Tofolat

B
:



6.

e

;L

[e)

st

% 7120 2ol L Azl deist 1502l
a
w2

® 4a®b @ 3b? ® 3b° @ 2v°

22}

714 9] Yo

® 3ab®

I

Wl



® -5x-3y-7

@ 5x+3y-7

@ -5x—-y+1

® bx+3y+7

oA —x -2y + 42 MAEY 4y + y—30] Fek. o],

® 3x-y+1



4x

-322+30

—32°+61—1




1o]u] uho A ohe AAJSHE 4ot A2 3l &

€ A€ Wole BE
A=A gERe EHAL I tha2 o 7 ek A= EA
579 sHE0] B2 Ao AlEdt Aot ojnf =MYEdES
P2 FAA Estofzt

ol _{)

o O o X

-~ 2 2 O

T

ne 5o

oli

2A) the [ 2ol 5012 48 2% H 38 Fojofet

3x — {y—(?y—6x)} =3x—(y—Ty+ 6x)
=3x- (6x—Dy
= 3x—6x+D
= e+l b

A 10, AF D12, 57 15, H4a L 20, B= L 23

~

5 L
=%



4 2
——x* 4 —x
3 3
“x2 4+ éx
3 3



2,) = Austolat
11. (15ab - 5a) + 5a + 4b* = (—gb) = Al4tstol 2t

D R
=%



12.

(6x%y? — 4xy? + 3x%y — 5xy) + xy & 7k
Fofofer,

Be:
-



13. o= 1"

@% @ -152 ®0 @ -2

Z]

3 e &3t 52 Fotu?

(@)
(Z)
AFA=(N)

()

42

®



15_38_ 3 _3x(h) _75_

20 4 200 T 22x50h @)




15. thge ¢@A4 150 8 B4 vehlt wgolh [ ot
o 58 A ol

AT 154 Ex 2 EO0H x=1.5444 - -+
10x = 15.444--- O

100x = 154.444---©

©-@< 5t 90x = 139

wrebd [ olek

5 S
=%



16. 0.6+ 2.7 & Atote] 8452 Uehl#?

@ 3.3 @ 3.34 ® 34 @ 3.43 ® 35






x=2L o, (x*)&)

18.



19. ¢

Ulo

& =4

(¢}

o [e]
e 7/_1‘1?(7

D 3P+3t=3
® 32+32=0

® a+a+a=3a

1
@ 23+24 ==

@ 2)(2)(2:23



(3

acb® )3

b3
6

o]
=

o, A

of

-






22. 552 25W Bt A2 g 59 ZEAEL R e 227

D 5°+25 @ 5°x25 ® 57

@ (5%)2 ® (552



23. 32=4A, 22 =B} & 1, 1832 A, BE 0]&35}o] YJEFYH?

® AB3 @ A*B ® A2B3 @ A2B ® A3B?



® b

a

D1



25_ (2axb2>344ab2—68 ey A}~
3 F o7 = 6a%p & o, A5 x, y ol tist] x+y <

zre?



26.

(3x%y7)% = ([_J"y?) =

#e] = b

® 3,5,2

@ 5,8, 2

® 3,9 2



ozt (& x#0)

T

ol
TK




@
a’b
3

®
a®b
3




29.

3ab

15
4b2




30. -dabx[ =120 QW[ |

D -3a%b @ -3ab?

@ a®b ® 3a%b



